



$$P_{refout} = \beta \left(\Delta p(t) + \frac{1}{T} \int_0^T \Delta p(t) dt \right) + P_{ref} ,$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi} ,$$

$$K = K_{w1} + K_{w2} + \dots = \frac{P_{w1}}{P_{ref}} + \frac{P_{w2}}{P_{ref}} + \dots,$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi},$$

$$P_{refout} = \beta \left(\Delta p(t) + \frac{1}{T} \int_0^T \Delta p(t) dt \right) + P_{ref} ,$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi} ,$$

$$K = K_{w1} + K_{w2} + \dots = \frac{P_{w1}}{P_{ref}} + \frac{P_{w2}}{P_{ref}} + \dots ,$$

$$K_{wi} = \frac{P_{wi}}{P_{refout}} ;$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi} \circ$$

$$P_{refout} = \beta \left(\Delta p(t) + \frac{1}{T} \int_0^T \Delta p(t) dt \right) + P_{ref} ,$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi} ,$$

$$K = K_{w1} + K_{w2} + \dots = \frac{P_{w1}}{P_{ref}} + \frac{P_{w2}}{P_{ref}} + \dots ,$$

$$K_{Wi} = \frac{P_{Wi}}{P_{refout}} ;$$

$$P_{refout} = K_{W1}P_{W1} + K_{W2}P_{W2} + \dots = \sum_{i=1}^n K_{Wi}P_{Wi} \circ$$

$$\frac{dP}{dt},$$

$$\beta = \frac{P_{mea}}{P_{ref}},$$

$$K_{wi} = \frac{P_{wi}}{P_{refout}} ;$$

$$S = \frac{\partial P}{\partial f}.$$

$$P_{refout-i} = \frac{P_{refout-\text{总}}}{n},$$

$$\frac{dP}{dt},$$

$$\beta = \frac{P_{mea}}{P_{ref}}$$

$$S = \frac{\partial P}{\partial f}.$$

$$P_{refout-i} = \frac{P_{refout-总}}{n},$$

$$S = \frac{\partial P}{\partial f}$$

$$\frac{dP}{dt},$$

$$\beta = \frac{P_{mea}}{P_{ref}}$$

$$P_{refout-i} = \frac{P_{refout-总}}{n},$$







